CHAPTER 5 – REVIEW

1. Graph f(x) = x2 – 4.  Use the graph of f(x) to graph 1/f(x). 

· Determine where they intersect

· Determine the vertical and horizontal asymptotes of 1/f(x)

· Determine the local max or min

· Determine the positive and negative intervals

· Determine the intervals of increase and decrease.

2. Describe the key features of the graphs of families of rational functions of the form

f(x) = 1/(x+n) and   f(x) = 1/(x2 + n) 

3. f(x) = 2x /(x-3)         g(x) = (x-2)/(3x+4)

· graph both f(x) and g(x)

· Determine the vertical and horizontal asymptotes of 1/f(x)

· Determine the positive and negative intervals

· Determine the intervals of increase and decrease.

4. Determine the solution to (x-2)/(x-3) = 0

What does this solution represent in the graph of f(x) = (x-2)/(x-3)?

5. Determine the solution to 1/(x-3) = 0

Explain why your answer makes sense when you consider the graph.

6. Determine the solution to   x + x/6 = 2x/(x+1)

7. Solve 1/(x+1)   <5   

Sketch the graph to show that the solution is reasonable.

8. A group of students have volunteered for the student council car wash. Janet can wash a car in m minutes.  Rodriguez can wash a car in m-5 minutes, while Nick needs the same amount of time as Janet.  If they all work together they can wash a car in about 3.23 minutes.  How long does Janet take to wash a car?

9. The concentration of toxic chemical in a spring fed lake is given by the equation c(x) = (50x)/(x2 +3x +6), where c is given in grams per litre and x is the time in days.  Determine when the concentration of chemical is 6.16 g/L

10. Solve 2/(x+5) > 3x/(x+10)

11. Given the function f(x) = 2x/(x-4), determine the coordinates of a point on f(x) where the slope of the tangent line equals the slope of the secant line that passes through A(5,10) and B(8,4)

12. TEXTBOOK REVIEW pg 308-309

